1.

£k el H A 0 8719 aABC S 914

x9] & Fotolel,



e 1™l A 0= AZ442 ABC 9 £4lolth. AB = 16cm ¢
o, x ] dol=?

@ 4cm @ 6cm @ 8cm @ 10cm ® 12cm



3. The Tel4 H 0 7 AABC 9 9149 1, sx o] 3718 Fsteler.




4. 2 IFA H 0 = AABC 9] 9Alo|t},
/BOC = 140°Y ujj, /BACE L&t}

A

140°

Q



o2 284 - O = aABC 9] 4o|th. A O oA BC o Hd
A9 8g Dt o, OB 9] Zo]=?

A

@ 6 @17 ® 8 @ 9 ® 10



ot 19 2ol B 7 A7kl A 7M7Y ABC o HlW AC 9]
F4& 0 2t & uf, /BAC = 50° o]t} /x 9] A7]&2
A
50°
O
T
B C

@® 60° @ 70° ® 80° @ 90° ® 100°



1, zx €]

Zlo
==

@ ABC olA & O 7} HlH o] &

22447}

@ 75° @ 80° @ 85° ® 90°

@® 70°



